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BEBFER AR 196 4 202 16 16 3 2 6 11 4
BEB AR AR 167 2 169 6 5 14 3 3 4 10 3
TS R 79 1 80 6 6 2 3 5 1
ERIFER 96 96 1 1 2 2 2
MR 66 1 67 1 1 1 1 3 5
fEt 604 8 614 30 5 38 7 10 16 33 10
HHE (%) 5.0% 1.2%
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14 2% 3F 44 b4 64F HeET 14 2% 3F 44 o} 64 HeEt 14 2% 3F 44 54 64 HeEt

RSN 35 35 1 1 1 1 2
INBINERRL 188 1 3 193 4 4 4 4 4 16
BREENER 21 21 2 2 2 1 3
BREANER 38 38 2 2 2 1 3
BRNER 23 1 24 0 0
EHRNFRR 22 22 1 1 1 1 2
TRRE/ NP 32 33 0 2 2
[EEZiiANTN 5 5 3 3 1 1
BREFNFR 9 9 2 2 1 1 2
FBINER 14 14 2 2 2 2
FrE PR 37 1 39 4 4 0
HLER/N AR 19 1 20 1 1 1 1
H /NP 14 14 1 1 1 1
FRER/NF AR 55 55 1 1 1 1 1 5 1 1 1 4
TP 6 6 1 ! °
iD=t 56 1 58 1 1 2 1 3 3 13
st 574 1 4 3 586 26 1 1 1 1 1 31 8 16 10 7 52
hEHE (%) 4.5% 1.4%
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14 2% 3F HEt 1€ 25 3%F HOET 14 2% 3%F HOET
KFERER 150 150 10 10 2 4 6
KFEHER 173 1 174 3 3 1 5 3 9 4
Kot 323 1 0 324 13 0 0 13 1 7 7 15
HHX (%) 4.0% 0.3% 4
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14 2% 3F A% ¥=3 64 HeEt 1% 24 3F A% bEE 64 ot 1% 24 34 AfE
BER/INERL 15 15 2 2 1 2 1
KHE/NER 119 119 4 4 2 1 2
BB /N 57 57 4 4 1 1
BN 81 81 5 5 1 1
#est 272 0 0 0 0 0 272 15 0 0 0 0 0 15 1 4 4 4
HWHX (%) 5.5% 0.4%




